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1-1 |"The multiplicative inverse of (1,0 )1is :
A) 0 B) 1 ©€) (1,0) (D) (0,1)
2 | Which one of them is unary operation :
(A) Addition (B) Multiplication ~ (C) Subtraction (D) Negation
3 |If A is asquare matrix of order 3 x 3 then|KA| = :
(A) K|4| (B) K?|4| ©) K°|4| (D) K’|4|
4 | Asquare matrix A=[a;] is called a skew-symmetric if :
(A) A'=4 B) A'=-4 (C) A'=x4 A4+ =4
5 | Roots of quadratic equation x*-7x+10=0 are :
A) 2,5 B) -2,5 € 2,-3 D) -2,-5
6 | Product of all three cube roots of unity is :
A) i B) -i (©) I D) -1
7 | Types of rational fractions are :
A) 1 (B) 2 (€) 3 (D) 4
8 | AM.between x—3and £+5 is
(A) x+1 By 2x+#1 C) 2x+2 D) 2
9 | G.M. between, lsand I6 is :
(A) -5 (B) 4 © 6 (D) 8
10 | P(E)xepresents the probability of an event “ E ” and 0< P(E)<1 for P(E) = 0 the
event'will be :
(A) Certain (B) One (C) Possible (D) Impossible
11 | The probability that an event does not occur, P(E)=:
(A) 1-P(E) (B) 1+P(E) (C) 2-P(E) (D) 2+P(E)
12 | The total number of terms in the expansion of (a+x)" is :
(A) n+2 (B) n+1 (C) n (D) n-1
13 | The statement n*> >n+3 hold forn= :
(A) O B) 1 (C) 2 (D) 3
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@ LHO—)p-2 23
R 2% radian in degree is :
(A) 75° (B) 100° (C) 110° (D) 120°
151 1-2sin’a =:
(A) sin2e (B) sing— (C) cos2a (D) cosa
16 | The period of tangent function is :
T n r
(A) 5 (B) 5 ©) 1 D) =
17 Js(s—a)(s-b)(s—c) =
(A) r (B) A (C) “As D n
18] a_
%
A) r B) n ©€) n D) n
19 _1(1]
COS — | =1
2
T T T T
(A) 3 » (B) 5 ©) z (D) 2
20 : ; : I ; e
Solution of the equation i ¥=c i [0,27] is :
T ¥/ T T
@ ®) % © Z ®
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2. Write short answers to any EIGHT (8) questions :

- (1)
(i1)
(iii)
(iv)
v)

(vi)

(vii)

(viii)
(ix)
)
(xi)
(xii)

3. Write short answers to any EIGHT (8),questions:

(@)
(i)
(iii)
(iv)
)
(vi)

(vii)
(viii)
(ix)

(%)

(xi)

(xii)
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SECTION 1 (PR3
16
Show that VzeC , (z—Z)? is a real number.

Simplify (a+bi)™>
Write the power set of {+,—, x, +}
Write the converse, inverse of ~p — q

Just, convert (AUB)=A4A'NB" and (AN B) =A"UB' into logical form.
1 2 2 0 0
If 4= and A = , find the values of @ and b
a b 0 0

: 2% =3x, =5
Solve the equations =%
le + Xq = 4

Define cofactor of an element of matrix.
Solve the equation x> + x?>+x+1=0

If a , B are the roots of xz—px—p—c=0,provethat (I+a)(1+p8)=1-c

Discuss the nature of roots 2x2 —5x+1=0

Give the statement of factor theorem.

16
9x -7

Without finding constants, wiite e
(x“+D (x+3)

into partial fraction form.

If a, ;=2n-5, findnthiterm of A.P.

Sum the series 34+ 5=7+9+11-13+15+17-19 + -—- + 3n terms.

L | \fg
c

If —, 3 and 2 are in G.P, then show that common ratio is +
a ¢

If 5ist the H.M. between 2 and b, find the value of b.

n n
Write formula for Y k and > &°
k=1 k=1

If P =11.10.9, then find n

How many signals can be given by 5 flags of different colours using 3 flags at a time?

A die is thrown twice. What is the probability that sum of dots shown is either 3 or 11?

% 4
3a—-——)
3a

. -_2_]12
x2

Using binomial theorem, expand [

Find middle term in the expansion of ( g—

Expand (1- 2x)% upto first three terms.
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2)
4. Write short answers to any NINE (9) questions : L //ﬁ —ff—2—~227
' (i) Define angle in the standard position.

- 1 ; a9
(i) If tan@ =-— and the terminal arm of angle is in second quadrant then find secd

(iii) Find sin@ and cos@ for 9:197’"

(;v) If a, B,y are angles of triangle ABC then prove sin(a+ f)=siny
(v) Without calculator or table, find cos(75°)
(vi) Prove that tan(45°+ A)tan(45°—A)=1
(vii) Define period of a trigonometric function.
(viii) Solve the right triangle ABC in which r=90°,a=3.28, 5=5.74
(ix) By using the law of cosine , write the formula of cosa and cosf3
(x) Solve the triangle ABC if #=60°, y=15° and b=+/6
(xi) Define the principal sin function.
(xi1) Solve the equation sinx = %
(xiii) Solve the equation sinx+cosx =0 and find its gefieral sélution set.
SECTION - 11
Note : Attempt any THREE questions.
i 1+

5. (@ If 4 =[1 _ } show that A (4 )"is sKew-hermitian.
~i

(b) When x*+2x%+ kx? +3.484iVidedBy x — 2 and remainder is 1, find the value of k.

6. (a) Resolve into ial fraCtion ———
®) pare (x=1)%(x+1)

(b) Prove that €@ %6,_, = "*'C,

-+
a" 1 n+l

7. (a) Find ‘ n.’ seithat +§n may be H.M. between g and b
a® +

3n
(b) Find (2n+1)th term from the end in expansion of (x —2—}
X

8. (a) If tan@= - and the terminal arm of the angle is not in the IIT quad., find the

NEd

7) 2
cosec”@—sec” @
value of '

cosec?0 +sec? 6
(b) Prove that c0s20° cos40° cos60° cos80° = %

9. (a) Solve the triangle ABC if a=7 ,b=3 , y =38°13

18 =

(b) Prove that tan™ s +tan”! 3_ tan =
4 5 19 4
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